

ROSEリポジトリいばらき（茨城大学学術情報リポジトリ）

Title	Some properties of slowly increasing functions
Author(s)	ANDO, Hiroshi; HORIUCHI, Toshio; NAKAI, Eiichi
Citation	Mathematical journal of Ibaraki University, 46: 37-49
Issue Date	2014
URL	http://hdl.handle.net/10109/8860
Rights	

このリポジトリに収録されているコンテンツの著作権は、それぞれの著作権者に帰属します。引用、転載、複製等される場合は、著作権法を遵守してください。

お問合せ先

茨城大学学術企画部学術情報課（図書館） 情報支援係
<http://www.lib.ibaraki.ac.jp/toiawase/toiawase.html>

Some properties of slowly increasing functions

Hiroshi ANDO*, Toshio HORIUCHI** and Eiichi NAKAI***

Abstract

A family of slowly increasing functions has been introduced in [1]. The main purpose of this article is to study further properties of slowly increasing functions. More specifically, we concentrate on constructing a family of differential equations involving slowly increasing functions in their coefficients.

1. Introduction

Let m and j be nonnegative integers and $m + j \geq 1$. In this article, we study the following ordinary differential equations:

$$-U''(r) = \frac{1}{4} r^{-2} \left(1 + S_j^{(m)}(r)\right) U(r) \quad (r \geq 1), \quad (1.1)$$

where the quantity $S_j^{(m)}$ is defined by using slowly increasing functions which were introduced in [1]. It is known that slowly increasing functions in [1] are infinitely differentiable. For convenience, we recall their elementary properties in Section 3.

The definition of the functions $S_j^{(m)}$ is a little bit complicated. For example,

$$S_0^{(1)}(r) = \sum_{i=1}^{\infty} \left(\prod_{k=1}^i F^k(ar) \right)^{-2} \quad (r \geq 1, a > 1),$$

where $F : [a, \infty) \rightarrow [a, \infty)$ is the function defined by

$$F(u) = a - \log a + \log u = a + \int_a^u \frac{1}{t} dt \quad (u \geq a) \quad (1.2)$$

and

$$F^0(u) = u, \quad F^k(u) = F(F^{k-1}(u)) \quad (k \in \mathbb{N} = \{1, 2, \dots\}).$$

We will give the definition of the functions $S_j^{(m)}$ for general m and j in Section 2.

Received 29 May 2014; revised 24 June 2014

2000 *Mathematics Subject Classification.* Primary 35J70; Secondary 35J60

Key Words and Phrases. logarithm, slowly increasing function

*Department Math., Ibaraki University, Mito, Ibaraki 310-8512, Japan (hand@mx.ibaraki.ac.jp)

**Department Math., Ibaraki University, Mito, Ibaraki 310-8512, Japan (horiuchi@mx.ibaraki.ac.jp)

***Department Math., Ibaraki University, Mito, Ibaraki 310-8512, Japan (enakai@mx.ibaraki.ac.jp)

For $u \geq a > 1$, let

$$\tilde{F}(u) = a \prod_{k=0}^{\infty} \frac{F^k(u)}{a} \quad (1.3)$$

and

$$\phi(u) = a + \int_a^u \frac{1}{\tilde{F}(t)} dt. \quad (1.4)$$

Then ϕ is a slowly increasing function defined in [1] and it has the following properties:

$$\lim_{u \rightarrow \infty} \phi(u) = \infty \quad \text{and} \quad \lim_{u \rightarrow \infty} \frac{\phi(u)}{F^k(u)} = 0 \quad \text{for all } k \in \{0\} \cup \mathbb{N}.$$

In this paper, we construct solutions $U = U_j^{(m)}$ to the equation (1.1) by using these functions \tilde{F} and ϕ . Then we have the following:

Theorem 1.1. *Let $a > 1$. Let $m, j \in \{0\} \cup \mathbb{N}$ and $m + j \geq 1$. Then the ordinary differential equation (1.1) has the general solutions*

$$U(r) = C_1 U_j^{(m)}(r) + C_2 U_{j+1}^{(m)}(r) (F^j(\phi^m(ar)))^{1/2} \quad (r \geq 1)$$

with arbitrary constants $C_1, C_2 \in \mathbb{R}$, where $\phi^0(u) = u$ and $\phi^m(u) = \phi(\phi^{m-1}(u))$ ($m \in \mathbb{N}$) for $u \geq a$.

For example,

$$U_0^{(1)}(r) = \left(\frac{1}{a} \tilde{F}(ar) \right)^{1/2}, \quad U_1^{(1)}(r) = \frac{1}{a} \left(\tilde{F}(ar) \phi(ar) \right)^{1/2} \quad (r \geq 1).$$

We also remark that the above result can be applied to improve the classical weighted Hardy type inequalities. We give this application in the paper [2]. Note that the definitions of the functions $U_j^{(m)}$ and $S_j^{(m)}$ are the same as in the paper [2]. Using the functions $U_j^{(m)}$ and $S_j^{(m)}$, we have the following proposition as a special case of Theorem 1.1, which is used to improve the classical weighted Hardy type inequalities by adding infinitely many missing terms.

Proposition 1.1 ([2, Proposition 3.2]). *Let $m, j \in \{0\} \cup \mathbb{N}$ and $m + j \geq 1$. Then the equality*

$$-\left(U_j^{(m)}(r) \right)'' = \frac{1}{4} r^{-2} \left(1 + S_j^{(m)}(r) \right) U_j^{(m)}(r) \quad (r \geq 1)$$

holds.

Moreover by the direct calculation we can see the following.

Remark 1.1. Let $n \in \mathbb{N}$ and $\alpha \in \mathbb{R}$. Let $m, j \in \{0\} \cup \mathbb{N}$ and $m + j \geq 1$. Let $\Omega = \{x \in \mathbb{R}^n : |x| > 1\}$, and let \mathcal{U} be the function defined by $\mathcal{U}(x) = |x|^{-\alpha - (n-1)/2} U_j^{(m)}(|x|)$ for $x \in \Omega \cup \partial\Omega$. Then the function \mathcal{U} is the solution to the boundary value problem

$$\begin{aligned} -\operatorname{div}(|x|^{2\alpha} \nabla \mathcal{U}) &= |x|^{2\alpha-2} \left\{ \left(\alpha + \frac{n-2}{2} \right)^2 + \frac{1}{4} S_j^{(m)}(|x|) \right\} \mathcal{U} \quad \text{in } \Omega, \\ \mathcal{U} &= 1 \quad \text{on } \partial\Omega. \end{aligned}$$

In Section 2, we construct solutions $U = U_j^{(m)}$ to the equation (1.1) for $m, j \in \{0\} \cup \mathbb{N}$ with $m + j \geq 1$ and prove Theorem 1.1. For the self-containedness of this paper, in Section 3, we provide the elementary review of slowly increasing functions studied in [1].

2. Main results

In this section we state our main results precisely and prove them. We first prepare several functions. Let $a > 1$, and let F, \tilde{F} and ϕ be the functions defined by (1.2), (1.3) and (1.4) respectively.

Definition 2.1. Let $m, j \in \{0\} \cup \mathbb{N}$. For $u \geq a$, let

$$V_{j+1}^{(0)}(u) = \sum_{k=0}^j (F^{k+1}(u) - a) = \log \left(\prod_{k=0}^j \frac{F^k(u)}{a} \right), \quad (2.1)$$

$$V_0^{(m+1)}(u) = \sum_{l=0}^m \sum_{k=0}^{\infty} (F^{k+1}(\phi^l(u)) - a) = \sum_{l=0}^m \log \frac{\tilde{F}(\phi^l(u))}{a}, \quad (2.2)$$

$$\begin{aligned} V_{j+1}^{(m+1)}(u) &= V_0^{(m+1)}(u) + \sum_{k=0}^j (F^{k+1}(\phi^{m+1}(u)) - a) \\ &= \sum_{l=0}^m \log \frac{\tilde{F}(\phi^l(u))}{a} + \log \left(\prod_{k=0}^j \frac{F^k(\phi^{m+1}(u))}{a} \right) \end{aligned} \quad (2.3)$$

and

$$Y_j^{(m)}(u) = \exp \left(\frac{1}{2} V_j^{(m)}(u) \right) \quad (m + j \geq 1). \quad (2.4)$$

Namely, for $u \geq a$ we have

$$\exp \left(V_{j+1}^{(0)}(u) \right) = \prod_{k=0}^j \frac{F^k(u)}{a}, \quad (2.5)$$

$$\exp \left(V_0^{(m+1)}(u) \right) = \prod_{l=0}^m \frac{\tilde{F}(\phi^l(u))}{a}, \quad (2.6)$$

$$\exp \left(V_{j+1}^{(m+1)}(u) \right) = \prod_{l=0}^m \frac{\tilde{F}(\phi^l(u))}{a} \prod_{k=0}^j \frac{F^k(\phi^{m+1}(u))}{a} \quad (2.7)$$

and

$$Y_{j+1}^{(0)}(u) = \left(\prod_{k=0}^j \frac{F^k(u)}{a} \right)^{1/2}, \quad (2.8)$$

$$Y_0^{(m+1)}(u) = \left(\prod_{l=0}^m \frac{\tilde{F}(\phi^l(u))}{a} \right)^{1/2}, \quad (2.9)$$

$$Y_{j+1}^{(m+1)}(u) = \left(\prod_{l=0}^m \frac{\tilde{F}(\phi^l(u))}{a} \prod_{k=0}^j \frac{F^k(\phi^{m+1}(u))}{a} \right)^{1/2}. \quad (2.10)$$

Definition 2.2. Let $j \in \{0\} \cup \mathbb{N}$. For $u \geq a$, let

$$D_{j+1}^{(0)}(u) = \sum_{i=0}^j \left(\prod_{k=0}^i F^k(u) \right)^{-2}, \quad (2.11)$$

$$D_0^{(1)}(u) = \sum_{i=0}^{\infty} \left(\prod_{k=0}^i F^k(u) \right)^{-2} \quad (2.12)$$

and, for $m \in \mathbb{N}$,

$$D_{j+1}^{(m)}(u) = D_0^{(m)}(u) + \sum_{i=0}^j \left(\prod_{l=0}^{m-1} \tilde{F}(\phi^l(u)) \prod_{k=0}^i F^k(\phi^m(u)) \right)^{-2}, \quad (2.13)$$

$$\begin{aligned} D_0^{(m+1)}(u) &= D_0^{(m)}(u) + \sum_{i=0}^{\infty} \left(\prod_{l=0}^{m-1} \tilde{F}(\phi^l(u)) \prod_{k=0}^i F^k(\phi^m(u)) \right)^{-2} \\ &= \sum_{i=0}^{\infty} \left(\prod_{k=0}^i F^k(u) \right)^{-2} + \sum_{\nu=1}^m \sum_{i=0}^{\infty} \left(\prod_{l=0}^{\nu-1} \tilde{F}(\phi^l(u)) \prod_{k=0}^i F^k(\phi^\nu(u)) \right)^{-2}. \end{aligned} \quad (2.14)$$

Further we define the functions $U_j^{(m)}$, $Q_j^{(m)}$ and $S_j^{(m)}$ in the following way.

Definition 2.3. Let $m, j \in \{0\} \cup \mathbb{N}$ and $m + j \geq 1$. For $r \geq 1$, let

$$U_j^{(m)}(r) = Y_j^{(m)}(ar), \quad (2.15)$$

$$Q_j^{(m)}(r) = a^2 D_j^{(m)}(ar) \quad (2.16)$$

and

$$S_j^{(m)}(r) = r^2 \left(Q_j^{(m)}(r) - Q_1^{(0)}(r) \right) = r^2 \left(Q_j^{(m)}(r) - r^{-2} \right), \quad (2.17)$$

that is,

$$Q_j^{(m)}(r) = r^{-2} \left(1 + S_j^{(m)}(r) \right). \quad (2.18)$$

Then for each $m, j \in \{0\} \cup \mathbb{N}$ with $m + j \geq 1$ the explicit form of $S_j^{(m)}$ is as follows.

$$S_1^{(0)}(r) = 0, \quad (2.19)$$

$$S_{j+1}^{(0)}(r) = (ar)^2 \sum_{i=1}^j \left(\prod_{k=0}^i F^k(ar) \right)^{-2} = \sum_{i=1}^j \left(\prod_{k=1}^i F^k(ar) \right)^{-2} \quad (j \in \mathbb{N}), \quad (2.20)$$

$$S_0^{(1)}(r) = \sum_{i=1}^{\infty} \left(\prod_{k=1}^i F^k(ar) \right)^{-2} \quad (2.21)$$

and, for $m \in \mathbb{N}$,

$$S_{j+1}^{(m)}(r) = S_0^{(m)}(r) + \sum_{i=0}^j \left((ar)^{-1} \prod_{l=0}^{m-1} \tilde{F}(\phi^l(ar)) \prod_{k=0}^i F^k(\phi^m(ar)) \right)^{-2}, \quad (2.22)$$

$$\begin{aligned} S_0^{(m+1)}(r) &= S_0^{(m)}(r) + \sum_{i=0}^{\infty} \left((ar)^{-1} \prod_{l=0}^{m-1} \tilde{F}(\phi^l(ar)) \prod_{k=0}^i F^k(\phi^m(ar)) \right)^{-2} \\ &= \sum_{i=1}^{\infty} \left(\prod_{k=1}^i F^k(ar) \right)^{-2} + \sum_{\nu=1}^m \sum_{i=0}^{\infty} \left((ar)^{-1} \prod_{l=0}^{\nu-1} \tilde{F}(\phi^l(ar)) \prod_{k=0}^i F^k(\phi^\nu(ar)) \right)^{-2}. \end{aligned} \quad (2.23)$$

Now we recall Theorem 1.1 and Proposition 1.1.

Theorem 1.1 *Let $m, j \in \{0\} \cup \mathbb{N}$ and $m + j \geq 1$. Then the ordinary differential equation (1.1):*

$$-U''(r) = \frac{1}{4} r^{-2} \left(1 + S_j^{(m)}(r) \right) U(r) \quad (r \geq 1)$$

has the general solutions

$$U(r) = C_1 U_j^{(m)}(r) + C_2 U_{j+1}^{(m)}(r) (F^j(\phi^m(ar)))^{1/2} \quad (r \geq 1)$$

with arbitrary constants $C_1, C_2 \in \mathbb{R}$.

Proposition 1.1 *Let $m, j \in \{0\} \cup \mathbb{N}$ and $m + j \geq 1$. Then the equality*

$$-\left(U_j^{(m)}(r) \right)'' = \frac{1}{4} r^{-2} \left(1 + S_j^{(m)}(r) \right) U_j^{(m)}(r) \quad (r \geq 1)$$

holds.

By Definition 2.3 and a simple change of variable, Theorem 1.1 and Proposition 1.1 clearly follow from the next Theorems 2.1 and 2.2 respectively.

Theorem 2.1. *Let $m, j \in \{0\} \cup \mathbb{N}$ and $m + j \geq 1$. Then the ordinary differential equation*

$$-Y''(u) = \frac{1}{4} D_j^{(m)}(u) Y(u) \quad (u \geq a) \quad (2.24)$$

has the general solutions

$$Y(u) = C_1 Y_j^{(m)}(u) + C_2 Y_{j+1}^{(m)}(u) (F^j(\phi^m(u)))^{1/2} \quad (u \geq a) \quad (2.25)$$

with arbitrary constants $C_1, C_2 \in \mathbb{R}$.

Theorem 2.2. Let $m, j \in \{0\} \cup \mathbb{N}$ and $m + j \geq 1$. Then the equality

$$-\left(Y_j^{(m)}(u)\right)'' = \frac{1}{4} D_j^{(m)}(u) Y_j^{(m)}(u) \quad (u \geq a) \quad (2.26)$$

holds.

Proof of Theorem 2.2. For $u \geq a$, from (2.4) it follows that

$$\begin{aligned} \left(Y_j^{(m)}(u)\right)' &= \frac{1}{2} \left(V_j^{(m)}(u)\right)' Y_j^{(m)}(u), \\ \left(Y_j^{(m)}(u)\right)'' &= \frac{1}{4} \left\{ 2 \left(V_j^{(m)}(u)\right)'' + \left(\left(V_j^{(m)}(u)\right)'\right)^2 \right\} Y_j^{(m)}(u). \end{aligned}$$

Therefore it is enough for the verification of (2.26) to show the equality

$$2 \left(V_j^{(m)}(u)\right)'' + \left(\left(V_j^{(m)}(u)\right)'\right)^2 = -D_j^{(m)}(u). \quad (2.27)$$

To do so we make useful observations. We use the formulas made in the following section. Note that

$$(F^j(\phi^m(u)))' = \frac{1}{a^{m+j}} \exp\left(-V_j^{(m)}(u)\right). \quad (2.28)$$

In fact, for $m \geq 1$, since

$$(\phi^m(u))' = (\phi(\phi^{m-1}(u)))' = \phi'(\phi^{m-1}(u)) (\phi^{m-1}(u))' = \frac{(\phi^{m-1}(u))'}{\tilde{F}(\phi^{m-1}(u))}$$

by (1.4), from (2.6) it follows that

$$(\phi^m(u))' = \frac{1}{\prod_{l=0}^{m-1} \tilde{F}(\phi^l(u))} = \frac{1}{a^m \exp\left(V_0^{(m)}(u)\right)}, \quad (2.29)$$

which shows (2.28) with $j = 0$. (2.28) for $m = 0$ follows from (3.16) and (2.5). For $m, j \geq 1$, from (3.16) and (2.29) it follows that

$$(F^j(\phi^m(u)))' = (F^j)'(\phi^m(u)) (\phi^m(u))' = \frac{1}{\prod_{k=0}^{j-1} F^k(\phi^m(u))} \frac{1}{\prod_{l=0}^{m-1} \tilde{F}(\phi^l(u))}, \quad (2.30)$$

which implies (2.28) by (2.7). Thus we saw (2.28) for sure. Furthermore, letting $V_0^{(0)}(u) \equiv 0$, from (2.3) and (2.28) it follows that

$$\begin{aligned} \left(V_{j+1}^{(m)}(u)\right)' &= \left(V_j^{(m)}(u)\right)' + \left(F^{j+1}(\phi^m(u))\right)', \\ \left(V_{j+1}^{(m)}(u)\right)'' &= \left(V_j^{(m)}(u)\right)'' + \left(F^{j+1}(\phi^m(u))\right)'' \\ &= \left(V_j^{(m)}(u)\right)'' - \left(V_{j+1}^{(m)}(u)\right)' \left(F^{j+1}(\phi^m(u))\right)' \\ &= \left(V_j^{(m)}(u)\right)'' - \left(\left(V_j^{(m)}(u)\right)' + \left(F^{j+1}(\phi^m(u))\right)'\right) \left(F^{j+1}(\phi^m(u))\right)'. \end{aligned}$$

Hence, for each m and j , we have the recurrence relation

$$\begin{aligned} &2 \left(V_{j+1}^{(m)}(u)\right)'' + \left(\left(V_{j+1}^{(m)}(u)\right)'\right)^2 \\ &= 2 \left(V_j^{(m)}(u)\right)'' + \left(\left(V_j^{(m)}(u)\right)'\right)^2 - \left(\left(F^{j+1}(\phi^m(u))\right)'\right)^2. \end{aligned} \quad (2.31)$$

Now we show (2.27) by induction on m . When $m = 0$, from (2.31), (3.16) and (2.11) it follows that

$$\begin{aligned} 2 \left(V_{j+1}^{(0)}(u)\right)'' + \left(\left(V_{j+1}^{(0)}(u)\right)'\right)^2 &= - \sum_{k=0}^j \left(\left(F^{k+1}(u)\right)'\right)^2 \\ &= - \sum_{k=0}^j \left(\prod_{i=0}^k F^i(u)\right)^{-2} = -D_{j+1}^{(0)}(u), \end{aligned}$$

which shows (2.27) for all j . Suppose that (2.27) holds for all j with some fixed m . Then from (2.2), (2.3) and the assumption of induction it follows that

$$\begin{aligned} 2 \left(V_0^{(m+1)}(u)\right)'' + \left(\left(V_0^{(m+1)}(u)\right)'\right)^2 &= \lim_{j \rightarrow \infty} \left\{ 2 \left(V_j^{(m)}(u)\right)'' + \left(\left(V_j^{(m)}(u)\right)'\right)^2 \right\} \\ &= - \lim_{j \rightarrow \infty} D_j^{(m)}(u) \\ &= -D_0^{(m+1)}(u). \end{aligned} \quad (2.32)$$

In addition, from (2.31) and (2.32) it follows that

$$\begin{aligned} &2 \left(V_{j+1}^{(m+1)}(u)\right)'' + \left(\left(V_{j+1}^{(m+1)}(u)\right)'\right)^2 \\ &= -D_0^{(m+1)}(u) - \sum_{k=0}^j \left(\left(F^{k+1}(\phi^{m+1}(u))\right)'\right)^2. \end{aligned} \quad (2.33)$$

According to (2.33), (2.30) and (2.13), we obtain

$$2 \left(V_{j+1}^{(m+1)}(u) \right)'' + \left(\left(V_{j+1}^{(m+1)}(u) \right)' \right)^2 = -D_{j+1}^{(m+1)}(u). \quad (2.34)$$

(2.32) and (2.34) indeed show that (2.27) holds for $m+1$ and all j . Consequently (2.27) was shown by induction. That completes the proof of Theorem 2.2. \square

Proof of Theorem 2.1. From (2.26) and (2.24) it follows that

$$\begin{aligned} 0 &= Y_j^{(m)}(u) Y''(u) - \left(Y_j^{(m)}(u) \right)'' Y(u) \\ &= \left\{ Y_j^{(m)}(u) Y'(u) - \left(Y_j^{(m)}(u) \right)' Y(u) \right\}' \\ &= \left\{ \left(Y_j^{(m)}(u) \right)^2 \left(\frac{Y(u)}{Y_j^{(m)}(u)} \right)' \right\}', \end{aligned}$$

and so

$$\left(\frac{Y(u)}{Y_j^{(m)}(u)} \right)' = C \left(Y_j^{(m)}(u) \right)^{-2}$$

with an arbitrary constant $C \in \mathbb{R}$. In addition, by (2.4) and (2.28) we have

$$\left(Y_j^{(m)}(u) \right)^{-2} = \exp \left(-V_j^{(m)}(u) \right) = a^{m+j} \left(F^j(\phi^m(u)) \right)'.$$

Hence it follows that

$$\frac{Y(u)}{Y_j^{(m)}(u)} = C_1 + C_2 F^j(\phi^m(u))$$

with arbitrary constants $C_1, C_2 \in \mathbb{R}$, which implies (2.25) by the representations (2.8) \sim (2.10) of functions $Y_j^{(m)}$. That concludes the proof of Theorem 2.1. \square

3. Appendix

In this section we review some elementary results of slowly increasing functions studied in [1]. Let $a > 1$ be fixed.

Definition 3.1. Let \mathcal{F}_a be the set of all continuous, increasing and bijective functions from $[a, \infty)$ to itself.

If $f \in \mathcal{F}_a$, then $f(a) = a$ and $\lim_{u \rightarrow \infty} f(u) = \infty$. For $f, g \in \mathcal{F}_a$, let $g \circ f$ be a composite function of f and g defined by $(g \circ f)(u) = g(f(u))$. Then $g \circ f \in \mathcal{F}_a$.

Let $k \in \{0\} \cup \mathbb{N}$. For a function $f \in \mathcal{F}_a$, let $f^0(u) = u$ and $f^{k+1}(u) = f(f^k(u))$. Then $f^k \in \mathcal{F}_a$.

We recall the definition (1.2) of function F . Namely, we define a function $F \in \mathcal{F}_a$ as

$$F(u) = F_a(u) = a - \log a + \log u = a + \log \frac{u}{a} = a + \int_a^u \frac{1}{t} dt \quad (u \geq a). \quad (3.1)$$

We easily see the following.

Lemma 3.1. *It holds that*

$$\lim_{u \rightarrow \infty} \frac{F(u)}{u^\varepsilon} = 0 \quad \text{for any } \varepsilon > 0. \quad (3.2)$$

Moreover it holds that

$$\lim_{u \rightarrow \infty} \frac{F^k(u)}{\log^k u} = 1 \quad \text{for each } k \in \{0\} \cup \mathbb{N}, \quad (3.3)$$

where $\log^0 u = u$ and $\log^k u = \log(\log^{k-1} u)$ ($k \in \mathbb{N}$).

For $u > a$, since

$$F(u) = a + \int_a^u \frac{1}{t} dt < a + \int_a^u \frac{1}{a} dt = a + \frac{u-a}{a} = u - \frac{a-1}{a}(u-a),$$

we have the relations

$$F(u) < u \quad (3.4)$$

and

$$a(F(u) - a) < u - a, \quad (3.5)$$

which imply the properties

$$F^{k+1}(u) < F^k(u) \quad (3.6)$$

and

$$a(F^{k+1}(u) - a) < F^k(u) - a \quad (3.7)$$

respectively. From (3.7) it follows that

$$F^{k+1}(u) - a \leq \frac{1}{a^k}(F(u) - a) = \frac{1}{a^k} \log \frac{u}{a} \quad (u \geq a).$$

Hence the infinite product

$$\prod_{k=0}^{\infty} \frac{F^k(u)}{a} = \exp\left(\sum_{k=0}^{\infty} \log \frac{F^k(u)}{a}\right) = \exp\left(\sum_{k=0}^{\infty} (F^{k+1}(u) - a)\right)$$

converges locally uniformly in $[a, \infty)$ and the estimate

$$\prod_{k=0}^{\infty} \frac{F^k(u)}{a} \leq \exp\left(\sum_{k=0}^{\infty} \frac{1}{a^k} \log \frac{u}{a}\right) = \left(\frac{u}{a}\right)^{a/(a-1)} \quad (u \geq a) \quad (3.8)$$

holds by $\sum_{k=0}^{\infty} 1/a^k = a/(a-1)$.

Then we recall the definition (1.3) of function \tilde{F} .

Definition 3.2. Let $j \in \{0\} \cup \mathbb{N}$. For $u \geq a$, let

$$\tilde{F}_j(u) = a \prod_{k=0}^j \frac{F^k(u)}{a} \quad (3.9)$$

and

$$\tilde{F}(u) = a \prod_{k=0}^{\infty} \frac{F^k(u)}{a}. \quad (3.10)$$

It is clear that $\tilde{F}_j \in \mathcal{F}_a$ for each $j \in \{0\} \cup \mathbb{N}$, $\tilde{F} \in \mathcal{F}_a$ and, from (3.8),

$$\tilde{F}(u) \leq a \left(\frac{u}{a}\right)^{a/(a-1)} \quad (u \geq a). \quad (3.11)$$

Moreover the function \tilde{F} is infinitely differentiable and $\left(\frac{d}{du}\right)^n \log \tilde{F}(u)$ is bounded in $[a, \infty)$ for each $n \in \mathbb{N}$. See Theorem 2.1 in [1].

For $u > a$, in view of

$$\lim_{j \rightarrow \infty} F^j(u) = \lim_{j \rightarrow \infty} \left(a \frac{\tilde{F}_j(u)}{\tilde{F}_{j-1}(u)} \right) = a \frac{\tilde{F}(u)}{\tilde{F}(u)} = a \quad (3.12)$$

it holds that

$$\lim_{j \rightarrow \infty} (F^j)^{-1}(u) = \infty. \quad (3.13)$$

In fact, from (3.12), for any $G > a$ there exists a $j_G \in \mathbb{N}$ such that $F^j(G) < u$ ($j \geq j_G$), which is equivalent to $(F^j)^{-1}(u) > G$ ($j \geq j_G$) by the increasingness of F^j . This shows (3.13).

Now we also recall the definition (1.4) of slowly increasing function ϕ .

Definition 3.3. For $u \geq a$, let

$$\phi(u) = a + \int_a^u \frac{1}{\tilde{F}(t)} dt. \quad (3.14)$$

Then the function ϕ is in \mathcal{F}_a and infinitely differentiable. Actually, from the next lemma it follows that $\lim_{u \rightarrow \infty} \phi(u) = \infty$.

Lemma 3.2. *It holds that*

$$\int_a^{\infty} \frac{1}{\tilde{F}(t)} dt = \infty. \quad (3.15)$$

Proof. For $u \geq a$, since

$$(F^{k+1}(u))' = (F(F^k(u)))' = F'(F^k(u)) (F^k(u))' = \frac{(F^k(u))'}{F^k(u)},$$

the relation

$$(F^{k+1}(u))' = \frac{1}{\prod_{i=0}^k F^i(u)} = \frac{1}{a^k \tilde{F}_k(u)} \quad (3.16)$$

holds. Combining (3.16) and the relation

$$\begin{aligned} \tilde{F}(u) &= a \prod_{k=0}^j \frac{F^k(u)}{a} \prod_{k=j+1}^{\infty} \frac{F^k(u)}{a} \\ &= \tilde{F}_j(u) \prod_{k=j+1}^{\infty} \frac{F^{k-j-1}(F^{j+1}(u))}{a} = \tilde{F}_j(u) \frac{\tilde{F}(F^{j+1}(u))}{a}, \end{aligned}$$

we have

$$\begin{aligned} \int_a^u \frac{1}{\tilde{F}(t)} dt &= \int_a^u \frac{a}{\tilde{F}_j(t)} \frac{1}{\tilde{F}(F^{j+1}(t))} dt \\ &= a^{j+1} \int_a^u \frac{(F^{j+1}(t))'}{\tilde{F}(F^{j+1}(t))} dt = a^{j+1} \int_a^{F^{j+1}(u)} \frac{1}{\tilde{F}(s)} ds. \end{aligned}$$

Hence it holds that

$$\int_a^u \frac{1}{\tilde{F}(t)} dt = a^j \int_a^{F^j(u)} \frac{1}{\tilde{F}(t)} dt \quad (j \in \mathbb{N} \cup \{0\}). \quad (3.17)$$

Substituting $(F^j)^{-1}(2a)$ for u in (3.17), we obtain the equality

$$\int_a^{(F^j)^{-1}(2a)} \frac{1}{\tilde{F}(t)} dt = a^j \int_a^{2a} \frac{1}{\tilde{F}(t)} dt \quad (j \in \mathbb{N} \cup \{0\}), \quad (3.18)$$

which implies the assertion (3.15) because of $\lim_{j \rightarrow \infty} (F^j)^{-1}(2a) = \infty$ by (3.13). \square

Finally we show the basic properties of slowly increasing functions ϕ , $F^k \circ \phi^m$ and $\tilde{F} \circ \phi^m$ for $m, k \in \{0\} \cup \mathbb{N}$.

Lemma 3.3. *For each $k \in \{0\} \cup \mathbb{N}$ and for any $\varepsilon > 0$ it holds that*

$$\lim_{u \rightarrow \infty} \frac{\phi(u)}{(F^k(u))^\varepsilon} = 0. \quad (3.19)$$

Proof. For $u > a$, by using

$$\tilde{F}(u) > \tilde{F}_k(u) \geq F^k(u) \quad (3.20)$$

and (3.16), we have the estimate

$$\begin{aligned} \int_a^u \frac{1}{\tilde{F}(t)} dt &< \int_a^u \frac{1}{\tilde{F}_k(t)} dt = \int_a^u a^k (F^{k+1}(t))' dt \\ &= a^k (F^{k+1}(u) - a) \leq a^k F^{k+1}(u) - a, \end{aligned}$$

and so

$$\phi(u) < a^k F^{k+1}(u). \quad (3.21)$$

Hence from (3.21), (3.2) and $\lim_{u \rightarrow \infty} F^k(u) = \infty$ it follows that

$$0 < \frac{\phi(u)}{(F^k(u))^\varepsilon} < a^k \frac{F^{k+1}(u)}{(F^k(u))^\varepsilon} = a^k \frac{F(F^k(u))}{(F^k(u))^\varepsilon} \rightarrow 0 \quad \text{as } u \rightarrow \infty,$$

which shows (3.19). \square

Proposition 3.1. *For each $m, k \in \{0\} \cup \mathbb{N}$ it holds that $F^k \circ \phi^m \in \mathcal{F}_a$ and, for $u > a$,*

$$F^{k+1}(\phi^m(u)) < F^k(\phi^m(u)), \quad (3.22)$$

$$F^k(\phi^m(u)) < \frac{\tilde{F}(\phi^m(u))}{\phi^m(u)} \quad (k \geq 1), \quad (3.23)$$

$$F^k(\phi^m(u)) < \tilde{F}(\phi^m(u)), \quad (3.24)$$

$$\tilde{F}(\phi^{m+1}(u)) < \tilde{F}(\phi^m(u)). \quad (3.25)$$

Moreover for each $m, k \in \{0\} \cup \mathbb{N}$ it holds that

$$\lim_{u \rightarrow \infty} \frac{F^k(\phi^m(u))}{\log^k \phi^m(u)} = 1 \quad (3.26)$$

and, for any $\varepsilon > 0$,

$$\lim_{u \rightarrow \infty} \frac{\phi^{m+1}(u)}{(F^k(\phi^m(u)))^\varepsilon} = 0, \quad (3.27)$$

$$\lim_{u \rightarrow \infty} \frac{F^k(\phi^{m+1}(u))}{(\tilde{F}(\phi^m(u)))^\varepsilon} = \lim_{u \rightarrow \infty} \frac{F^k(\phi^{m+1}(u))}{(\tilde{F}(\phi^m(u))/\phi^m(u))^\varepsilon} = 0, \quad (3.28)$$

$$\lim_{u \rightarrow \infty} \frac{\tilde{F}(\phi^{m+1}(u))}{(\tilde{F}(\phi^m(u)))^\varepsilon} = \lim_{u \rightarrow \infty} \frac{\tilde{F}(\phi^{m+1}(u))}{(\tilde{F}(\phi^m(u))/\phi^m(u))^\varepsilon} = 0. \quad (3.29)$$

Proof. Since $\lim_{u \rightarrow \infty} \phi^m(u) = \infty$ by $\phi^m \in \mathcal{F}_a$, it suffices to show all the assertions for the case of $m = 0$. Then (3.22), (3.24), (3.26) and (3.27) coincide (3.6), (3.20), (3.3) and (3.19) respectively. (3.23) follows from (3.20) and

$$\tilde{F}_k(u) = F^k(u)\tilde{F}_{k-1}(u) \geq F^k(u)F^0(u) = uF^k(u) \quad (k \geq 1).$$

Combining (3.21) with $k = 0$ and (3.4), we have

$$\phi(u) < u \quad (u > a), \quad (3.30)$$

which implies (3.25) due to the increasingness of \tilde{F} . Finally we show (3.28) and (3.29). By (3.20) we have

$$\frac{F^k(\phi(u))}{(\tilde{F}(u))^\varepsilon} < \frac{F^k(\phi(u))}{(\tilde{F}(u)/u)^\varepsilon} < \frac{\tilde{F}(\phi(u))}{(\tilde{F}(u)/u)^\varepsilon}, \quad \frac{\tilde{F}(\phi(u))}{(\tilde{F}(u))^\varepsilon} < \frac{\tilde{F}(\phi(u))}{(\tilde{F}(u)/u)^\varepsilon} \quad (u > a).$$

In addition, from (3.11) and (3.23) it follows that

$$\begin{aligned} \frac{\tilde{F}(\phi(u))}{(\tilde{F}(u)/u)^\varepsilon} &< \frac{a(\phi(u)/a)^{a/(a-1)}}{(F^k(u))^\varepsilon} \\ &= a^{-1/(a-1)} \left(\frac{\phi(u)}{(F^k(u))^{(a-1)\varepsilon/a}} \right)^{a/(a-1)} \longrightarrow 0 \quad \text{as } u \rightarrow \infty \end{aligned}$$

because of Lemma 3.3. Hence we obtain (3.28) and (3.29). That concludes the proof. \square

Acknowledgments

The authors wish to express their deep thanks to the referee for his/her very careful reading and valuable comments. The second author was partially supported by Grant-in-Aid for Scientific Research (C), No. 24540157, Japan Society for the Promotion of Science. The third author was partially supported by Grant-in-Aid for Scientific Research (C), No. 24540159, Japan Society for the Promotion of Science.

References

- [1] H. Ando, T. Horiuchi and E. Nakai, Construction of slowly increasing functions, *Sci. Math. Jpn.*, Vol.75, No.2 (2012), 187–201.
- [2] H. Ando, T. Horiuchi and E. Nakai, Weighted Hardy inequalities with infinitely many sharp missing terms, *Math. J. Ibaraki Univ.*, Vol.46 (2014), 9–30.